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data/digitmat 0 0000 O000O0OOOOOOOO
digittmat 00000000000 0OODOOOCOODOOO
gooobbobbooooooo

> load digit.mat
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> who -variables -long

XO0TO300OO0OOoOoobOooooooooo 300
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> x=X(:,23,5);
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> imagesc(reshape(x, [16 16]1)°)
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> clear all

> load digit.mat
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ooooorgo22o00booooooooooooDo
gboobooooooooooooobooobobooboo
t00000000000000000000 p(wt) O
oboboooooooooooooooooooon
obooobobooobobooooboooooDo

> mul=mean(X(:,:,1),2);
> mu2=mean(X(:,:,2),2);
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S=(cov(X(:,:,1))+cov(X(:,:,2)°))/2;

00000000000000000 +0000000
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> £=T(:,1,2);

> invS=inv(S);

> pl=mul’*invS*t-mul’*invS*mul/2;
>

p2=mu2’*invS*t-mu2’*invS*mu2/2;
O0000v(S)00D00O0
warning: inverse: matrix singular...

gbooooooooooobooooboboboboo
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> sign(pl-p2)
ans = -1

000000000000 000000 200000 2)
boboboboobooboooboooooooooooo
O00UOOsign(pdiff) D00 100000000000
00000 100000 v)yooooooo

gboog20b000b00o0bo0obooooboooo
ooogoooo

> t=T(:,:,2);
> pl=mul’*invS*t-mul’*invS*mul/2;
> p2=mu2’*invS*t-mu2’*invS*mu2/2;

> result=sign(pl-p2);
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gbobooboboobooboooobobooooobo



> sum(result==-1)
ans = 198
> sum(result~=-1)

ans = 2

oo0O2o0000000 220000000ODDDO0O0O198
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> find(result™=-1)
ans =
69 180
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> imagesc(reshape(t(:,69),[16 16]1)°)
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clear all
load digit.mat X T

[d,n,nc]=size(X);

nc=3;

S=zeros(d,d);

for c=1:nc
mu(:,c)=mean(X(:,:,c),2);
S=S+cov(X(:,:,c)’)/nc;

end

invS=inv(8);

for ct=1:nc
for c=1:nc
muc=mu(:,c);
t=T(:,:,ct);
p(ct,:,c)=muc’*invS*t-muc’*invS*muc/2;
end

end

[pmax Pl=max(p,[]1,3);
for ct=1:nc
for c=1:nc
C(ct,c)=sum(P(ct,:)==c);
end

end

gooobOoobooooooo

gbooooboooobooboooboobooboo

e ‘’O000DOOOOOI90000DO vYOODDO
oooobD1oo20o0oooon

e 2’0000000OO 19200000 220000
ooooos8soo¥yooooood

e 30000D0O00OODOOOOOD ¥¥OODODO
ooooo 20020000000

5 Qo2

‘o009 ooboooooooobooooooooDo
oboooboboooboobooobooboooboooDo

6 0UO3

OO0 OctaveODDOOOOOOODOOOOOODODOODO
gooooobooobooboboobooboooboo
obooobooooboooo



